EQUATIONS LOGARITHMIQUES
m 1) log,(5) = 0,5
2) In(2 x) = 1n(3)

3)21n(2) +In(x? = 1) = In(4 x - 1)

1) {25.)
2 {—}

3) A

3
2
3
—
2

m 1) log,(125) =3
3) log,(0,4) =2
1
5) log,(4) = Z
7) logr(log,(16)) = 2
9) In(x + 2) = In(3)
11) In(x) (1 = In(x)) =0
13) logqo(x = 2) +log1o(x +4) = 2log1((4)
15) 41n(x) = In(x® — 2) + In(8)
17) 1+ In(4 x — 2) = In(40)

19) 2In(x + 1) = In(3) + In(2 x — 1)

2) log,(2) = =2
4) log,(x) =1

0) log,(3x) =2

8) logZ(ZX_l - 1) =2x
10) In(1 —x) =1

12) logqo(x + 3) +log1((3) = log1(12)
14) In(x + 2) + In(x + 1) = In(2)

16) In(7) = In(x® - 1) = In(x — 1)

18) logz(x) +logz(x—8) = 2

3
20) In(x+ 2) + In(—x) = ln( Z)

1) {5}

1
2 {—1I

2
3) {0.632456 )
YHx=a
5) {256}
6) {3}
7 {2}
8) logy(2*1 —1) = 2
22x — o+l _ 4
22x_2.2X41 =0
2¥-1)2=0
x=0
9 {1}
10) {1-e}
1) {1, e}
12) {1}




